Exam Tune-up #1 | MFM2P

In this warm-up Mr. Smith has given you a mixture of problems from various units. We will still
be reviewing these units, don’t worry. But you should be able to work through these now with

your seat partners. 0 A9
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1) Find the indicated side in the first triangle, and indicated angle in the second triangle.
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2) Perform the following conversions. Mr. Smith has set the first one up for you, for the
second, there are 2.54 cm in one inch.
a) 24 fttoin. b) 72 inches to cm.
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4) Solve the following linear system using elimination. You need to decide whether to add or
subtract.

Linear System: OQPOSiTES
5x 2%= 15 @ \ Addyor Subtract
4x\—-2y=3 @
/\\\‘
Do the Addition/Subtraction: Sub into equatiofp @ pr @

Qo = \% 5(2\ & ’23: )
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Solution: ( L ,2.5)

5) Find the volume of the following 3D shape. Redr;aw the basic 3D shapes in the provided
spaces.

3D Shape Basic Shape 1 Basic Shape 2
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In this review note we are going to go over the basics regarding composite area and perimeter,
surface area and volume. At this point you should be able to identify a basic 2D or 3D shape,
and apply the correct formula for area, perimeter, volume, or surface area.

Example: Calculate the area of the following composite shape:
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Example: Calculate the perimeter of the following composite shape: \/ C\!‘d ¢
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= 71.95 cw

C-1.%95+5+5 = 135 .

You may need the Pythagorean Theorem at times to find volume and/or surface area.

Example: Calculate the surface area of the following square based pyramid. Note that you will
have to use Pythagorean Theorem to find the slant height.
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Examples: Calculate the volume of the following 3-D shapes.

a) Shape: !\?C‘»'\CL b} Shaps: C\?)\WQ/&/
‘r=8in o T N Q V = W‘%(li-\,\'
h_J15m = 3_\4%%1\; s =9 30cm '_:.‘31“ 10%% 30

c) Determine the volume of this propane tank. It is cylindrical, with 2 half-spheres on the end.

Diagram:
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Measurement Review Questions and PT Prep

MEFMzP

1) Consider this floor layout in an apartment. All measurements are in feet.

Bedreom

Living & Dinning Room
12" x 19’

......

In addition, here are some additional dimensions:

e The bedroom closet is 2’ by 7
e All other closets are 2’ by 3’
e The bathroom is 6’ by 8’

a) New hardwood is going into the living room, bedroom, bedroom closet, and the two closets
in the bedroom hallway. The hardwood costs $7.50 per square foot (including installation).

Find the cost of this job:

X 1-50
Room Area (-.,C-'Jrl> Cost of Hardwood
Living and Dining Room IA<ia = 2293 i ')'"l | O
Bedroom W4 = 154 g’iy‘gls
Bedroom Closet R = \4 % {0%.
Hallway Closet 1 2y3 = b % 45
Hallway Closet 2 tl Sys
Total Cost 13 0 LO
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b) New tile is going into the kitchen, bathroom, utility closet, and the closet by the main
entrance. The tile costs $7.75 per square foot (including installation). Find the cost of this job:

. 4115
Room Area (£4° ) Cost of Hardwood
Kitchen 1% - bH | Liqy
Bathroom G+ ¥ =4S 8277
Utility Closet 24% = b | | $46.50
Entrance Closet il Byrso
Total Cost B 96|

c) Trim is being put along the baseboards in the living and dining room, and the bedroom. This

costs $1.25 per foot. Find the cost of this job. : x\ .15
Room Perimeter (.E#\ Cost of crown molding
Living and Dining Room VeV RS RS \ ) B 7. 1.50
Bedroom Walritr ~ 50 3 (52. 50
Total Cost $ 'L} 0

d) What is the total cost of all of these jobs? Include 13% for sales tax.
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2) You are pricing out a new roof for your home. You have a “hipped roof” diagrammed beiow.
Find the total area of your roof using the table below.

Visual of Roof:

]
]
1201
!
30ft 60ft
Area of Triangle Portion (calculations) Area of Trapezoid Portion (calculations)
A: byl A= (ar) k=
o - (dosbo)x 2071
T 2ov24 -1
= loo0
T ~oo £ .
Area= 360 T4 _ Area= 000 ++

F=n
Total Area (2 triangles + 2 trapezoids) = Ly 260 4+ A x 1000 = 21 7208

b) The cost for metal roofing is $9.00 per square foot (installed). How much is this new roof

going to cost? ) ; \ 7
2,100 +9 = 8924 ‘L’x%/() (Leore g )
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3) Mr. Smith is putting up a backsplash in his kitchen. The wall where the backsplash is going looks
something like below. The wall itself is 5 feet by 10 feet. In addition, the 3 cabinet sizes are listed

below:

e (Cabinet type Ais 2 feet by 4 feet
e Cabinet type B is 2 feet by 2 feet
e (Cabinet type Cis 1 foot by 2feet
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Backsplash Area (2 ) |
Determine the area of the backsplash wall:
Shape 1: Shape 2: Shape 3:
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Area= g 4 N Area= 4 L—‘\rL Area= 1O 4 -

TotalArea= 9 V H4 10 ~ 9\9\ S\(l(l
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3D Questions:

1) Find the volume of the following solids.
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2) Find the surface area of the following solids. -

a) b) Note: 4.5m is the radius here
4.§m ,
8in -
8.4n;
5% Sin
rl&\%t&s? P LB L H S AR Y

2(%%3+3+54 ’5%53

2 (79) = 12707 4+ 23738
= 5% 0t = 344, 557

3) Find the volume of the following 3D shape.

3D shape Basic Shape 1 Basic Shape 2
Sketch: '\‘\‘—‘\
NS <=
“Z-\ _ Wi X
(’\ (s uS
O 27
Ve Lol V= #h -3

. 4 .1‘“‘_—:
2 Q3 ulidS : 5, 1%l & L8114

\i

UJ

Volume = \%\lEch Volume= %9 0.1% o

Total Volume= 1} |10 .\ i
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4) The dimensions of an irregularly shaped pool are shown in the diagram below.

a) Find the area of the pool surface:

Diagram of Pool Surface
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b) The poolis 6 feet deep. Use the formula: Vi = Area of Base X Height of Prism to
find the volume of the entire pool.

=952 . 9( »

_ - = 2

c) Your backyard hose can pump out 1.2 feet® of water every minute. How many minutes will it
take to fill your pool?

t
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